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In preparation for the first teaching from September 2016 and as a part of the on-going
support that we offer to our centres, we have been developing support materials to help
you better understand the application of Nationals BTEC Level 3 qualification.

What is Sample Marked Learner Work (SMLW)?

The following learner work has been prepared as guidance for centres and learners. It
can be used as a helpful tool when teaching and preparing for external units.

Each question explores two responses; one good response, followed by a poor
response. These responses demonstrate how marks can be both attained and lost.

The SMLW includes examples of real learners’ work, accompanied with examiner tips
and comments based on the responses of how learners performed.

Below displays the format this booklet follows. Each question will show a learner
response, followed by comments on the command verbs and the content of the
question. Tips may be offered where possible.

The appendix has attached a mark scheme showing all the possible responses that
perhaps were not explored in the SMLW, but can still be attained.

- T T o TEEEEEEEEEEEEEEEEETETETTEEAN
The red box comments on the command verbs used in the question.
Command typically means, to instruct or order for something to be done.
Likewise, in assessments, learners are required to answer questions, with the
help of a command verb which gives them a sense of direction when

answering a question.

This box may choose to highlight the command verb used and comments if

N the learner has successfully done this, or not. P

-_— e e e e .
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/ The green box comments on the content words and phrases. Content makes \\
' reference to subject knowledge that originates from the specification.
Learners are required to use subject specific knowledge to answer the |
I questions in order to gain maximum marks. |
: !
I The comments may include: |
| |
. |
| e Any key words/phrases used in the learner’s answer.
: e Why has the learner gained x amount of marks? And why/how have I
they not gained any further marks? |
| e Any suggestions/ ideas regarding the structure of the answer. I
| e Ifthe answer meets full marks- why it is a strong answer? What part !
\ of the content has been mentioned to gain these marks? /
N e e e e e e e e e e e e e e e e e e e e e e o o -
\QS“ _— Tips offer helpful hints that the learner may find useful. For
) example:

e Recommended length of the answer
e Reference to the amount of marks awarded
e General advice for the learner when answering questions

You will need to refer to the appropriate specification alongside
these sample materials.

The link below will direct you to the AddSAMs that this SMLW refers to.
https://qualifications.pearson.com/content/dam/pdf/BTEC-Nationals/Health-and-Social-

Care/2016/specification-and-sample-assessments/Additional-sample-assessment-material-Unit-3-
Anatomy-and-Physiology-for-Health-and-Social-Care.pdf
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Question 1 a(i)

Effective Response

1 (a) (i) State one role of each of the following:

gastric sphincter

< PRMRIALS efux

pancreas

(JJFO(tuOPS NS

"N NN I E NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN EEENEEEEEEEEEEEY

One role of each of the named structures has been stated,
reflux and insulin production.

e"ENEEEEN
anmmmnn?®

ANEEEEE NN NN NN NN NN EEE NN EEEEEEEEEEEEEEEEEEEEEEEEEEEEnnnnnnmnnnmns®

Ineffective Response

1 (a) (i) State one role of each of the following:

gastric sphincter

pancreas

Mares  hamwiere .

4N EEEEEEEEEEEEE NSNS SN SN EEEEEEEEEEEEEEEE NS NN EEEEEEEEEEEEEEEEEEEEEEEEEEER

The learner has made a statement, but they are inaccurate and
too vague for a Level 3 answer.

euNEEEY
.

®ammnn
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Question 1 a(ii)

Effective Response

(ii) Describe peristalsis.

e QALSIS 1S AL NUASCULOL  Carntvachan
QA woips. dondd o _moe M@\@v\ AL,
A) 8@&%@ DOCE .

An accurate description of peristalsis, it is a muscular contraction (1)
moving food along the digestive tract (1)

.

eumEmEY
M ILEL]

NN NN NN NS NN SN NN EEENEEEEE NS EEENSEENNEEEEENEEEENEEENENEENEEEEEEEEEEEEEEE,
-

Two distinct, but linked, facts accurately describing peristalsis.

.
.
n

llIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII’

emmnm

Ineffective Response

(ii) Describe peristalsis.

Moves  froet 'T\Ucw@l/\ Mo inteshine s

E A statement not a description has been provided, there is
insufficient detail and it is not linked to muscular contraction.

NN EE NN NN NN NN NN NN NN NN NN NN NN NN NN NN EEENEEEEEEEEEEEEES

]

Ysmmnn

" NN NN EEEE NN NN NN NN NN NN NN NSNS ENNEEEEEEEEEEEEEEEEEEEENNENNEENEEEEEEEEEEE,

There is no attempt to describe how peristalsis works, only a
generic statement about food moving through the intestines, this is
incorrect.

Y NI NN NN NN NN NN NN NN NN NN NN NN SN NN NN NN EEENEEENENENENENENENENENENEENEENERS

emmmmmEw
®annnnnns

A, ‘ Match the number of marks
‘\QS ‘ available to the number of linked points

‘ you make.

@ Pearson
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Question 1 b(i)

Effective Response

(b) (i) Explain the cause of coeliac disease.

Cofliac. AUsLase. 1S an imung. ol sordey”
el QAo IndeshinesS have. a feachon fo
gwi:@m N ford .

SN NN NN NN NN NN NN NN SN NN NS NN N SN NN NEEENNEEEENSEEENNEEEENNEENEENEEEENEEEEEEEE,

L

The learner has identified what Coeliac disease is and linked it
to the cause then expanded this to an explanation of what
happens when you have the condition.

4NN NN NSNS NN NSNS NSNS EE NN NSNS EEE NSNS NS NSNS EEEEEEEEEEEEEEEES

euEEEEEEN
‘snsmmmnn®

S EEEEEEEEEEEEEEE NN EEEEEEEEEEEE NN NN NN NN NN NN NN NN NN EEEEEEEENEEEEEEEEEEEEEEEEEEE,

Accurate identification of an immune disorder, caused by a reaction to
food. The answer would have been improved by the learner stating
that it is an auto-immune disease.

AN EEEEEEEEE NN NN NS S S S S S S NN NN NN NN NN NSNS EEEEEE NN EEEEEEEEEEEEEEEEEEEY

Ineffective Response

e"ENEEEEEN,
4pumunnnn?®

(bi (i} Explain the cause of cosliac diteass.

S

&H:LL.% Ao il wiweas

" NN NI NN NN N NN NN NN NN NN NN SN NN NN NN EEEEEEEEEEEEEEEE NN SN EEEENNENNEENEEEEEEEEEEEEEEEEY

There is a statement but no attempt at identification of coeliac disease or
any explanation of how eating wheat can trigger a reaction. The learner
should have identified that it is the gluten that causes the reaction

NN NN EEE NN EEE NN N NN EEEEEEE NN NN NN NN NN NN NN NN NN NN EEEEEEEEEEES

*

ssEEEmEw
4pEEmEEn
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Question 1 b(ii)

Effective Response

(ii) Describe one symptom of coeliac disease.

(& couuses. Q. pefson do pecome. lblooded
aS ue Weshngs  age. Swduen 1 Suuch (0aas
fo_Haun_ond Aiscovdovt .

4N EEEEE NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN EEEENEEEEEEEEEEEEEEENEEENEEEEEEEEEEER,

An accurate description of what happens to the body including two
distinct linked points which directly relate to coeliac disease

4NN NN EEE NN NN NN NN NN EEE NN NN NN NN NN EEE NN NN EEEEEEEEEEEEEEEEEEEEEEEEEn®

I NN NI N NI NN NN NN NN NN NSNS NN NN NN NN NN NN NN NN NN NN NN NN EEEEEEEEE,

Bloating identified as a symptom, then linked to causing pain and
discomfort as an expansion of the bloating.

4 I NN I NI NN NN NN NN NN NN NN SN NS NN SN NSNS NS NN NN NN EEEEEEEEEEEEEEEEEEER®

Ineffective Response

lii} Describe ene syrptom of coelac disease,

e OEt O ek Sorvadcta.

U EEEEEEE NN NN NN NN NN NSNS NN NN NN NN NSNS NN NSNS NN NN NN NN EEEEEEEEEEEN,
*

A generic statement rather than a description offered and not
linked to coeliac disease, even though this is a symptom. Itis also
a symptom of many other digestive conditions and so not specific
enough at Level 3. The answer should refer directly to the
symptoms of coeliac disease specifically, not general digestive
system upsets.

* *
NN NN NN NN NN NN NN NN NN NN NN EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEmmEn®

gUEEEEEEEEEEEmN,
*
AR EEERRRRRRRN RS
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Question 1 C

Effective Response

(c) State the role of the gall bladder.

Y i ‘ \ ‘1
C_.SIeS DI

. An accurate statement has been made

-
4N EEEEEEEEEE NN NN NN NN N NN NN NN NN NN EEEEEEEEEEEEEEEEEEEEEEEEmEEmmn?

The storage of bile is identified. .

u
EEEEEEE NSNS EEEEEEEEEEEEEEE NN NS SN EEEEEEEEEEEEEEEEEEEEEEEES

Ineffective Response

ic) Stave the role of the gall bladder.

felenees il

G EEEE NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN EEEEEEEEEEENEEENEEEEENEEEEEEEEEEEN,

PAERETS

An inaccurate statement made

The learner has stated
‘releases’ rather than stores.
The bile duct releases the
bile into the small intestine

R

11
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Question 2a

Effective Response

2 (a) Explain two functions of the femur.

L acks oS quppak (ﬁwmm@ as it
IS Swefe. oo, of The. M@of‘ MASCLOS
ool .

"'\

2 oaws Tue. boau o more. / o&m@aoﬂ
AS. Maver 1S mmad ox M £Nee. .

Two accurate identifications with appropriate expansions.
Good use of appropriate technical language such as
locomotion. The role of the knees as a hinge at one end of
the femur and support as a muscle attachment site are
identified correctly.

NN NN NN NN NN NN NN NN EEE N EEE NN NN EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEn®

\QS‘- ' Be careful about the verb you
) ‘ use when stating roles.

)

‘-IIIIIIIII-.
®esnnnnnnnnns®

Ineffective Response

2 (a) Explain two functions of the femur.

Cdmarks

IL%\B@VJ\,@:%N\Q/C’,

2. AACAE oL e
T ) ~

LR R RN RN RN RN RN ERNRRRNRERERRRERRRNRRREREREREREREREREDR IS

Two accurate identifications given but not expanded. The
language is simplistic for a level three answer. Movement
and support would be credited but the marks are limited due
to the lack of expansion in the answers.

Y EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEENEENEEEEEEEEEEEEEEEEEEEER®

eummmmEEEw,
‘assmmnmnnt

QS\' When explaining, always identify then expand
\ the point. The number of expansions required
is dictated by the number of marks on offer.

@ Pearson
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Question 2b

Effective Response

(b) Describe one cause and the effects of osteoporosis on the skeletal system.

OSteoporasis 1s Lvere Twe bonas con't
hove, PX\(’SUQJ'M colcivma in o _as B Qs
bam Lp&t ﬂu“vuh u wmt’fu QF 7‘(107)3 QAL

unoff,»ac and. xbb\us uumq t&sw oxeldse
ond._ Nk €Oﬁb‘9 e z\uuu/\ QQXCIQLUU
CQlCIVM. NCIA. «(UULS QU QS (¢ Lcmu o:ogwms
as e woud  gee. et o8 fd,d@u g
The ACK of CalCiumt  MOXOS TS hones
wearel ond (eSS _den®.  uwiCia Thon
IMEONS ¢ @ue,moe_urm}

O pROUC. COUSING a0 OSSN PO

guuEEE

A level 2 answer, showing some accurate knowledge of the cause of
osteoporosis. This has then been applied appropriately and so

linked a cause and effect of osteoporosis.

The calcium deficiency is identified, and the reasons for its loss
identified. The effects of this on the body such as weaker, less
dense bones leading to fractures are identified and linked.

sssmmsmmnnn®

Cammn

the question.

Ensure the answer you give matches the

S‘.
“\9 - marks on offer and the command verb in

Ineffective Response

(b) Describe one cause and the effects of osteoporosis on the skeletal system.

N enaugin NN Lo hones
|oia=Va @&%‘Ej onct i A—
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NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN EEEEEEN,

The link between diet and osteoporosis is identified. The effect of
those factors, pain and increased chance of fractures, is linked to the
identifications

4 NN NN NN EEEEEEEEEEEEEEEE NS EEEEEEEEEEEEEEEEEEEE NSNS EEEEEEEEEEEEEEEEEEEEEY

evEEEEEEEN,
‘assmmmmmn?®

eI NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NS NN NN NN NN NN NN NN NN NN NN EEENENEEEEEEEp

A level one answer, an isolated element of knowledge identified, but
lacks the application and expansion to reach the higher levels.

4N EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEENEEENENENEEEEENENENENEENEENEEEEEEEEEEEEEEEmEmEn?®

eumEmEW
amEmEE®

Q ) Lack of calcium leading to
Nl ) increased chance of
- fracture identified but not
described.

Question 3a

Effective Response

3 (a) Explain the function of mitochondria.

MutoChondna are. esponsble. for Dfoducmo
and @0 0SMO.eNnelau. . AEs s sbu
procucng WTP&»M ADP. twe 2T Do
(ms o’ an LNe(Qy Sve. I Nae. celd (9

O i\ wafj ’(b aQ baxr/u

¢U NI NI NI NI N NN NN NN NN NN NN NN NN SN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN ENENENENEEEEEEEy

An accurate identification followed by two expansion points to
cover the three marks available.
’.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII’
Three linked points to gain all three marks.
The release of energy, by producing ATP which acts as an ‘energy
. store’ .

AN EEEEEEEEEEEEEEE NN NN NN NN NN NN NN NN NS NN NN NN SN NN NN NS NN EEEEEEEEEEEEEES
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Ineffective Response

3 (a) Explain the function of mitochondria.

Maewe enercua
A\ J ’

ST EEEEE s EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEssEas .
An inaccurate identification with no expansion, the answer
. shows a misunderstanding of the nature of energy, which
. cannot be made or destroyed, just changed .
-’. N

Energy cannot be made, it

A
QS- - can only be changed from
N ; one form to another.

Question 3b

Effective Response

(b) Explain how proteins are produced in the cell.

tlonsf s NG s in Tl mactous. of T
€L, P MOFCLULS oMY CLCICLS ‘ZLDC(’ILLO_/
Dl Dw\tm AS. O Thon M dl dmvm
. &)A/u\m ACicks by b&vx@ dowmsioded
by Are AlOSEALLS 1A Tuie (FLLS

J

Yo PLOSM...

"I EE NN EE NN NN NN NN NN NN NS NN SN E NN NN NN NN NN SN NN EEEEEEENEEENENENENENEEEEEEEEEEEEER

L]
: There are some accurate comments although some inaccuracies as well. *
The order of the answer is not logical
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¢" N EEEEEE NN NS NN NS NN NN NN NN NN NN NN NN NN NN EEEEEEEEEENENENENNNENNNENENEEEEEEN,

tRNA matches amino acids to form proteins, and translation by

ribosomes is the process that does this. tRNA is not found in

the nucleus but positive marking allows the other points to be
credited.

AN EEE NN NN NN NN NN NN NN NN NN NN NN NN EEEEEENEEEEEEEEEEEEEEEEEEEEEER®

evEEEEEEE NN,
‘asmnssnnnns®

Ineffective Response

(b) Explain how proteins are produced in the cell,

t\[\)@ ‘}‘G/QJLC: Tlag
o

¢ NI NN I NN I NN I N NN NN NN NN NN NN NN NN NN NN NN NN ENENENENENEENEEE,

There is no explanation, just an inaccurate statement.
Although the learner has accurately identified the ribosome as
being involved there is no understanding of the process
demonstrated

4 NN NN NN NN NS NN NN NN EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEERS

eummmEEEEER,
asmmnmmnmns®

*

I EEEEEEEEEEEEEEEE NSNS S S SN SN NN NN NN NN NN NN NSNS NS S SN NN NN NN NN NN EEEEEEEW

DNA is transcribed, this then undergoes translation. The
DNA does not ‘tell’ ribosomes to do anything

4N EEEEEEEEEEE NN NS EEEEEEEEEEEEEEE NN E NS EEEEEEEEEEEEEEEEEEEEES

enEmEw
4ummnn?®

A, - Avoid anthropomorphisms, cells do
‘\Qs - not have human abilities.

=

Question 4a(i)

Effective Response

4 f{a) (i) Define the term endocrine giand.

2 marks:

indeCnug. gl S EWe Wwicta




‘BTE

¢ NI NI NN NN NI NN NN NN NN NN NN NN NN NN NSNS NSNS NSNS NN NN NN EEEEEEEEEEEE

An accurate definition including two points to match the two marks
available. usina ‘and so’ to show the link and aain the extra mark.

4N EEEEEEE NN NN NN NN NN NN NS SN SN NN NN SN NN NN EEEEEEEEEEEEEEEEEEEEEEsnnnmmmmmmmmn®

asmmmms

eEmEEE W

U I NI NI NN NN NN NN NN NN NN NN NN NN NN N NN NN NN NS NSNS NN NN NN NN EEEEEEEEEEW,

An accurate definition, identifying an endocrine gland as being ductless so
releasing hormones directly into the bloodstream.

emmmEEW
Ysmmmms

Ineffective Response

4 (a) (i} Define the term endocrine gland.

AT AE.  NOYVONES  ave. veleaeeal .

N EEEEEEEEEEEEEEE NN NS S SN SN EEEEEEEEEEE NS SN NN EEEEEEEEEEEEEEY

: An identification rather than a definition has been provided. A ‘
definition should identify what the endocrine is/does not just what :
: happens there. .

4 E I NN N NN NN NN NN NS N NN NN NS NN NN NN NSNS N NN NN NSNS NS NN NSNS EEEEEEEEEES

"N NN NN NN NN NN NSNS SN NN NEENN NSNS EEEENNEEENNEEEEEEEEEEEEEE,

: At level three more accuracy is required, where they are
released into is not stated, and there is no other point to
turn this into a two-mark definition.

4N EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEENEEEEEEEEEERY

YsEEEEEnEs

"
[
[
L]
L]
[
L]
*

Q. ‘ Ensure the number of points
‘\? ‘ you make match the marks

‘ available.

Question 4a(ii)

Effective Response

(i) Identify one endocrine gland, other than the pancreas.

Ovuies = procluce cestogen




Ineffective Response

{ii) Identify one endocrine gland, other than the pancreas.

An inaccurate identification has been made. The liver is not an
endocrine gland itself although it has a role in many body .

processes.

Question 4b(i)

Effective Response

(b) (i) Describe how type 1 diabeliomam Sl s,

Tope | diadoetes  leoas dy  weigut (0ss

O A IASLO L i @W@Q& WA TAg

m.fwe@g TS MOONS TUOE g ver

m\o\ MMl s comk dwe Quood s

\mo&@ﬁ ondh (‘mu CACESS aswwfexﬁd

boobu Th Unad

s et of fure, W0 Aeser e ray

s pnooded Tuere s o qlucese

and oo ooy hos f Use. fet aud

0N \JULQ}QC@JW quel . Tuws yecluces

N {ar ond Musle  Swes Havouah

(LS @QQUV@ w WAGLAL (0SS .~

eumEEE

A level three answer, showing accurate knowledge and understanding;
linked throughout. There is synthesis of knowledge and chains of

reasonina that make the answer cohesive.

The content of the answer is accurate. The effect of lack of insulin -
on fat and protein metabolism is linked to weight loss through :
ketosis. It is clearly linked to Type 1 diabetes, rather than just .

‘diabetes’. The mechanism of weight loss is described

............................................... @ Pearson
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Ineffective Response

(b) () Describe how type 1 diabetes leads to weight loss,

“e6marks |

NGO %m SULC&(‘ Gored 1 “ﬁ«Q_boch
Nt -PM%f’fQu. <O b:du USes n%ur
mnead <o BQ&J oet. Slcwwtu

A level one answer, isolated elements of knowledge are .

demonstrated. :

4 I NN NI NI NN NN NN NN NN NS NN SN NSNS EEEEEEEEEEEEEEEEEEEEEEEEN »
The change from sugar to fat metabolism for energy is identified
but there is no expansion or description. It is not clearly linked :
. to Type 1 diabetes and the knowledge is not cohesive. :
AN EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEEEEEER \d

Question 4b(ii)

Effective Response

(i) Compare type 1 and type 2 diabetes.

4 marks

W e | diabers ng insiin s pm@mgﬂ
b ol Lwee0s wn upe L ciabetes
it s prectuced _doesutt

Feqrm g ﬁ.ﬁ@lu Of Out- U
Tape\ & o o.né)m@ehcﬁen WA bifda,

AL eo&meil T%M@@iﬂﬂd@?fﬁﬂ
Coused. \@ Ufﬁshdum dachys qucho s o
pcul. clied”

Two accurate, comparative statements made addressing the command verb
. in the question.

The differences in insulin production and the lack of response rather
= than production in type II is identified. The usual age range of onset is .
compared accurately.
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Ineffective Response

(ii) Compare type 1 and type 2 diabetes.

No el packe. o tbﬁoe.\
N @Qchon. 4o NS %ﬁel

:‘ Two statements have been made, that are comparative ‘
. but there is no attempt to compare them directly in the =
wording of the answer. A connective such as ‘but’ or
= ‘whereas’ would have improved the answer. .

Although there is an attempt at comparison, there is no .
comment about whether insulin is made in type 2 diabetes or
not. .

eEEEEEEEN

(A8 - When doing a comparison, use a
- comparative connective such as but or

- whereas.

Question 4c

Effective Response

() Explain the long-term effects of type 2 diabetes.

d'marks

Lcug € m 1‘1 e ) cualneteS coun (ouuse.

3S e.méé. olucose. N Tu
blﬁm RO (O LoULa0e T




‘BTEC

"IN NN EE NN NN NN NN NN NN NN NN EEN NN NN NN NN ENEEENEENEEEEEENEEENEEEEEEEER

There are two long term effects identified and expanded,
giving a good explanation.

4N I NN NN NN EEE NN NN NN NN NN NN NN NN NN NN NN NN NN EEEEEEENENENENENEEEENEEERS

sEsEmmEw
4smmnmmn®

¢" I NN NN NN NN NN NN NS NN NN NN NN NN NS NN NN NN NN NN NN NN NN EENNEESEEENEEEEEEEEEEN

Blindness due to capillary damage in the eyes and heart disease due to
reduced blood supply are accurately identified, and the reasons for that
damage are explained

(AR RN RN R RN RRNRERRERRENRENRERRERENRENRERRENRENRERNRNRRENRNERRERENRENRENENNRENREND]Z

eUNEEEEW
QIIIIIII'

Ineffective Response

(c) Explain the long-term effects of type 2 diabetes.

[E =SS S Tavs <iVe VESE

4N EEEEEEEEEEEEEEEEEEE NSNS EEEEEEEEEEEEEEE NS SN SN NN NN EEEEEEEEEEEEEEER

An accurate identification but an irrelevant expansion.

enmmEm
MEILLLL

*

SEEEE NN NN NN NN NN NN NN NN NE SN NN NESNSNENENEENENENESEENENEEEEEEEEEEEEEY,

E The increased chance of heart disease is accurate but the .
. reference to obesity is irrelevant. Obesity is a causal factor in
some kinds of type 2 diabetes, not an effect. .
E The question asks for effects, there is only one effect identified. -
’Q ‘.

AN NN NN NN NN NS S S S S S SN NN NN NN NN NN NSNS EESSESEEEEEEEEEEEEEEEEEEEE®

\ - If a question asks for plural
S.
‘\Q ‘ effects/factors make sure
‘ you put more than one.
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Question 5a(i)

Effective Response

5 (a) (i) Identify two muscles and where they are found in the body.

_dmarks

L AYWS — bf&{p& hroch

, B0Ce- dodtmids

Two accurate identifications and their locations in the
body are identified in the answer.

AN EEEEEEEEEEE NSNS S EEEEEEEEEEEEEEEEEE NSNS EEEEEEEEEEEEEEES

eNEEEE W
4ummmms

i EEEEEEEEEEEEEEEEEE NSNS S NN EEEEEEEEEEEEE NN EEEEEEEEEEEEEEEN,

This is the minimum needed for full marks, although the answer
is brief the muscles are identified and linked to their locations.

eummEEmEW
Yammmns

Ineffective Response

5 (@) () Identify two muscles and where they are found in the body,

Amarks

E Incomplete identifications given .

" u
AN EEEEEEEEEEEEEE NN EEEEEEEEEEEEEEEE NN EEEEEEEEEEEEEEEEEES

The technical terms for the muscles are incomplete so, for instance, it
is not clear which biceps are being referred to. The learner should have
used the full names as listed in the specification.

4 S EE SN EEEEEE NN EE S EEEEEEEEEEEEEEEE NN EEEEEEEEEEEEEEEEEEEEEEEEEEER?

L 4

emmmmEEEN,
4smmnnnns

@ Pearson
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Q. ‘ When using technical language
.‘\9 ‘ make sure you are accurate
and use names in full.

Question 5a(ii)

Effective Response

(i) Explain two ways muscles are attached to the body.

1L FOACOU S~ UL A OCIATAG. AMUSCAeS
To_bones .

> FosCa - Dwose. suvounda Tue.
MAASCAL S0 L Con actacia i Mo
T 0ne - PO .

U EE NI NN NI NN NN NN NN NN NN NN NN NN NN NN N NN EEENEEEEEEEEY

Two accurate identifications with expansions
gaining full marks.

4EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEY®

CLLLLLL
ammmmm?®

S I NN NN SN NN NN NN NN SN NN SN NN EEENNEEEENSEEENNNEEENEEEEEEEEEEEEEEEEE,

Tendons and fascia have been identified and their mode of§
attachment, bones and soft tissue around the muscle added:

as appropriate expansions. .

U
AN NN NN NN NN NN NN NN NN NN SN N NN NN NN NN NN EEEEEEEEEEEEEEEEEEEEEn?

evEEEEEEmN,

Ineffective Response

(i} Explain two ways muscles are attached to the body.

S Amarks

2 Ligpavents jimTwem to SOnats,
One accurate identification, with expansions that are not '
E specific enough. :

4NN EEEEEEEE NN NN NN EEEEEEENEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEmmmmmn®

@ Pearson
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‘e

@
Tendons join muscle to bone, ligaments do not. Muscles
should be identified, not inferred by ‘them’, answers that
‘stand-alone’ and do not have to read in conjunction with

the question, whilst not repeating the question are best.

NN NN NN NN NN NN NN NN NN NN NN NN EEEEEEEEEEEEEEEEEEEEEEERS

RITTTYTTTTTIN
assmsmmmmsn®

*

Qo - Make sure that answers are specific,
‘\? ‘ do not assume markers will know what

‘ you mean.

Question 5b

Effective Response

(b) Compare synovial and fibrous joints.

4 marks

"I EE NN EE NN NN NN SN NS SN NN EEE NN NN NN NN S EEENEEEEEEEEEEENEENNEEENEEEEEEEp

There are two accurate comparisons with reference to both
types of joint made.

A NN NN NN NN NN NN NSNS EE NN NSNS EEE N NN EEEENEEEEEEEEEEEEEEEEEES

uEEEEEEN
Ypmmmnnn?®

S EEEEEEEEEEE NN NN NN NN N NN NN N NN N NN NN NN NN NN NN NN NN EEEEEEEEEEEEE,

The degree of movement and the structures joining
the joints are compared accurately. Synovial joints
move freely, and fibrous joints are relatively
immoveable. Fibrous joints are held together by
collagen and synovial by ligaments.
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Ineffective Response

(b) Compare synovial and fibrous joints.

EEEEEEEEEsEEEsEEEssEEsEsEEsssEEsssEEssEEsssEEssEEsssEEsssEEsssEEsEEEEE .
A comparison is attempted but is inaccurate, the
E learner has confused the two types of joints. .
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! The response has mixed the two kinds of joint up, and :
only one comparison is attempted, if it had been
. accurate only half the marks would be available. :
Q«,\. : Ensure comparisons refer to both sides and
<M match the number of marks on offer.

Question 5c¢

Effective Response

[c) Explain how body systems work together to ensure ventilation of the lungs.

8 marks
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IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII.‘

Different body systems have been referenced accurately and the

interrelationships covered. There is a coherent chain of reasoning
and the response is organised well.
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f The nervous system, cardiovascular and muscular-skeletal ‘
systems are referred to accurately and their
. interrelationships explained and referenced to ventilation :
. of the lungs. A level three answer. :
* *

AEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE NN EEEEEEEEEEEEE NN EEEEEEEEEEEEEEEEEEEEEEERS

Ineffective Response

() Explain how body systems work together to ensure ventilation of the lungs.

( HEve ’\‘b bféamﬁ@ ncle. o
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There are isolated elements of knowledge, and an
attempt to refer to relevant interrelationships. There
is little attempt to develop material or link to the
musculo-skeletal systems role in ventilation.
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The role of CO; in control of ventilation is
mentioned accurately, but there are no attempts to
accurately link that to other body systems beyond

aeneric comments.
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Make sure answers are specific to
the question and avoid generic
statements where possible.
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Question 6a(ii)

Effective Response

(i) Qutline how morbidity statistics are collected and used.

4 marks
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E An outline is a short explanation, the learner has outlined a method of
E collection and one use of the statistics. .
4 I EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEEEEEEEEEENEEEEEEEENEENEEENEENEEEENEEEER Y

The collection of GP records, and their use to inform research
priorities has been included. .

Ineffective Response

(i) Outline how morbidity statistics are collected and used.

c,;\l\n@& [ vu(c:wg SD\#%C@J\ e

Checeed oo
An identification that does not answer the question, with no
reference to the way the statistics are collected or used. .
¥ AN EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEENEEEEEEEEEEEEEEEEER ’.

Although the GP has been identified, the concept that their records '
: are collected/sampled has not been mentioned and there are no
. further expansions.
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o — Make sure that answers match the question
<P - asked, if not they will gain no marks even if
‘ they are correct statements in isolation.

Question 6a(iii)

Effective Response

{iii) Explain how mortality statistics may be used to evaluate the effect of lifestyle
choices.
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[ ]
An accurate identification has been expanded to a maximum six *
. marks. :

: The use of mortality rates to identify prevalent causes of death,
: and then going on to inform public health policy and evaluate
strategy by identifying causal factors has resulted in an excellent
k% answer.
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Ineffective Response

(iii) Explain how mortality statistics may be used to evaluate the effect of lifestyle
choices.

6marks.
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A d

A basic identification has been made but not expanded
accurately. A simplistic description of their use is included
but no attempt to evaluate has been made.
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Making judgements about the effect of changes in
lifestyle has been identified but not expanded on, which
means the extra marks can’t be awarded.
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